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Correct Answer: CD 
 
 
QUESTION 18 
Which two databases are supported by App Volumes 2.x? (Choose two.) 
 
A. Microsoft SQL Server 2012 SP3 
B. Microsoft SQL Server Express 2008 
C. Oracle 11g 
D. vPostgres 
 
Correct Answer: AB 
 
 
QUESTION 19 
An administrator is configuring a rule for an Access Policy in VMware Identity Manager. Which 
three settings can be configured to manage user access to their apps portal as a whole, or to 
specified Web application? (Choose three.) 
 
A. Network Range 
B. Application category 
C. Device Type 
D. Rule Schedule 
E. Authentication Type 
 
Correct Answer: ACE 
 
 
QUESTION 20 
An administrator connects to View Administrator and sees that the dashboard health indicator is 
red for the View Connection Server instance. 
 
Clicking the red health indicator displays SSL Certificate: Invalid 
 
What setting should the administrator review when troubleshooting this issue? 
 
A. Verify that the certificate is added to the certificate authority's revocation list 
B. Verify that the certificate has a friendly name of view 
C. Verify that the certificate is imported into the Personal folder in the Microsoft Windows local 

computer certificate store 
D. Verify that the SSL service is running on the View Connection Server instance 
 
Correct Answer: C 
 
QUESTION 21 
Which two best practices must be followed when deploying Horizon View on VMware VSAN? 
(Choose two.) 
 
A. Turn on VMware vSphere Storage APIs Array Integration 
B. Increase the amount of smaller SAS disks used for the capacity tier 
C. Enable Horizon View Storage Acceleration 
D. Disable Horizon View Storage Acceleration 
E. Increase the amount of smaller SAS disks used for the caching tier 
 
Correct Answer: CE 
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QUESTION 22 
What is the minimum version of vSphere required to deploy instant clones? 
 
A. vSphere 5.5 
B. vSphere 6.0 Update 1 
C. vSphere 5.5 Update 3b 
D. vSphere 6.0 Update 2 
 
Correct Answer: B 
 
 
QUESTION 23 
What is the last step that must be completed to prepare a desktop virtual machine for use in a 
linked clone pool? 
 
A. Install VMTools on the virtual machine 
B. Turn on the virtual machine and then take a snapshot 
C. Install the Horizon View Agent on the virtual machine 
D. Shut down the virtual machine and then take a snapshot 
 
Correct Answer: C 
 
 
QUESTION 24 
View Composer supports which database version? 
 
A. Microsoft SQL Server 2012 
B. vPostgres 
C. Oracle 11g 
D. Microsoft SQL Server 2008 SP1 
 
Correct Answer: A 
 
 
QUESTION 25 
An ESXI host has instant clone virtual machines running on it. What tool should be used to place 
it into maintenance mode? 
 
A. ViewDbChk 
B. VMware vSphere Client 
C. vdmadmin 
D. IcMaint 
 
Correct Answer: D 
 
 
QUESTION 26 
Which two View graphics technologies are hardware accelerated? (Choose two.) 
 
A. vDGA 
B. vGPU 
C. 3dfx 
D. Soft 3D 
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Correct Answer: AB 
 
 
QUESTION 27 
Which type of virtual machines can an existing pool contain when cloning an Automated Desktop 
Pool from an existing pool? 
 
A. RDS desktops 
B. Manual desktops 
C. Linked clones 
D. Instant clones 
 
Correct Answer: C 
 
 
QUESTION 28 
While investigating slow performance, an administrator discovered that none of the desktops in 
the Microsoft Windows desktop pool is reporting metrics to vRealize Operations for VMware 
Horizon. What action would enable the Microsoft Windows desktop pool to report metrics to 
vRealize Operations Manager for Horizon? 
 
A. Verify that the Microsoft Windows desktop pool has been included in the vRealize Operations for 

Horizon Broker Agent configuration 
B. Enable vRealize Operations Manager for Horizon in the Microsoft Windows desktop pool settings 

in the View Administrator console 
C. Add the vRealize Operations Manager for Horizon security tag to the Microsoft Windows desktop 

pool virtual machines 
D. Add the users of the Microsoft Windows desktop pool to the vRealize Operations Manager 

Everyone group 
 
Correct Answer: A 
 
 
QUESTION 29 
When configuring Horizon in FIPS mode, what security protocol is the default? 
 
A. TLSv1.0 
B. SSLv3 
C. SSLv1 
D. TLSv1.2 
 
Correct Answer: D 
 
 
QUESTION 30 
When integrating a Citrix deployment in VMware Identity Manager, what can be done in the 
Administration Console with Citrix resources? 
 
A. Entitle users to those Citrix resources 
B. View the Citrix resources and their entitlements 
C. Modify the settings of the Citrix resources 
D. Manage Citrix-published applications and Citrix-published desktops 
 
Correct Answer: B 
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QUESTION 31 
Which three actions does the User Environment Manager Helpdesk Support Tool allow a desktop 
support engineer to perform? (Choose three.) 
 
A. Backing up a profile archive 
B. Searching and select users 
C. Resetting and restoring profile archives 
D. Restarting the (VMware UEM Service) FlexEngine service 
E. Viewing FlexEngine logs 
 
Correct Answer: BCE 
 
 
QUESTION 32 
When preparing a master image for a virtual desktop infrastructure environment, how should disk 
defragmentation be configured? 
 
A. Run a disk defragmentation and then schedule automatic defragmentation tasks prior to 

publishing the desktop 
B. Do not run a disk defragmentation but schedule automatic defragmentation tasks prior to 

publishing the desktop 
C. Run a disk defragmentation and then disable automatic defragmentation tasks prior to publishing 

the desktop 
D. Do not run a disk defragmentation but disable automatic defragmentation tasks prior to publishing 

the desktop 
 
Correct Answer: C 
 
 
QUESTION 33 
How can an administrator access the User Environment Manager console for the first time? 
 
A. Deploy the User Environment Manager appliance, select the Flex management console option, 

then launch the management console application. 
B. Deploy the User Environment Manager appliance, select the Flex management console option, 

then connect to the appliance at https://UEM-Console.vmware.com:9443/ui. 
C. Launch the User Environment Manager installer, perform a Custom install, select the Flex 

management console option, then connect to the computer at https://UEM-
Console.vmware.com:9443/ui. 

D. Launch the User Environment Manager installer, perform a Custom install, select the Flex 
management console option, then launch the management console application. 

 
Correct Answer: A 
 
 
QUESTION 34 
Which installation type should be selected to generate a View Connection Server instance with a 
View LDAP configuration that is copied from an existing instance? 
 
A. Enrollment Server installation 
B. Security Server installation 
C. Replica installation 
D. Standard installation 
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Correct Answer: C 
 
 
QUESTION 35 
One of the datastores containing a linked clone desktop pool is running out of disk space and an 
administrator adds a second datastore. Which operation should the administrator perform to 
resolve the issue? 
 
A. Refresh 
B. Storage vMotion 
C. Recompose 
D. Rebalance 
 
Correct Answer: B 
 
 
QUESTION 36 
One of the datastores containing a manual desktop pool is running out of disk space and an 
administrator adds a second datastore. Which operation should the administrator perform to 
resolve the issue? 
 
A. Recompose 
B. Storage vMotion 
C. Refresh 
D. Rebalance 
 
Correct Answer: B 
 
 
QUESTION 37 
What are two supported operating systems for an instant clone remote desktop? (Choose two.) 
 
A. Microsoft Windows 10 
B. Microsoft Windows 8.1 
C. Microsoft Windows 8 
D. Microsoft Windows 7 
 
Correct Answer: AD 
 
 
QUESTION 38 
During an installation of View Connection Server, the Install HTML Access option setting is not 
being displayed in the installer. What is the probable cause? 
 
A. FIPS mode is disabled 
B. Configure Windows Firewall automatically option is selected 
C. IPv6 is selected as Internet Protocol (IP) 
D. IPv4 is selected as Internet Protocol (IP) 
 
Correct Answer: C 
 
 
QUESTION 39 
What is the recommended relationship between View Composer servers and vCenter servers? 
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